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(1) (-13)-2= @

(2) -3+b= ©)

(3) (-48)-(~18)-5= ®

(4) 2x(-93)x (-5)= @

(5) 983-[638+983]= ®

(6) (—25)%x17 x 4= ®

(7) 13+ (=2)x[7—-(=2)x3]= @

(8) (=3)x8+[36+(—4)+2]=

(9) 28x2° =210 ® o (v 5 K )
(10) 5% x (2° = 2%)= o (15 )

(11) 8% x 3%+ 12°6= @) o (v % Fr )
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(12) 8*x 4%+ 2= @ o (1t 5 Fi)
2. B F A-BA g HY ARmAYR(-3) PAB=6> RBBAEL ©
3. ABAat(-2) ~BRA(-8)  FAB® A ik @
4. fsF A(-8) ~ B(12) » :AB= ©®
5. #A L A(a)»B(b) > ® A& Bz £AB= (AT GHE LT
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2. $£9998 x (—67) + 9998 x (—18) + 9998 X (—15):1iE - (3 A)

3. e ira=338p=52.c=15" s xka-~b-c +-] - (24)
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